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38. y
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39. Sample answer: y>x + 3

40. Sample answer: Testing a point
on the boundary line would not
tell you which side of the line the
solutions are on.

41. y > —%x + 3; pick two points on
the boundary line to find the slope
and then use the point-slope
form of an equation to find the
equation. The boundary line is
dashed, so the inequality does not
include points on the boundary.
Then choose a point to determine
which inequality sign to use.
Sample answer: You and your
sister want to spend at least $15
on your little brother’s birthday.
You want to buy him some
race cars that cost $3 each and
some building block sets that cost
$5 each.

. Sample answer:
x> |y— 9| + 5; I chose a
point on the graph and found
another inequality that opened
horizontally and had a vertex of
the point I chose.

B
N

2.8 Problem Solving
43. 0.03x + 0.06y <20
44. 12x + 18y <4800
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Small pizzas

Sample answer: 12 large and
382 small, 120 large and
220 small, 0 large and 400 small

45. 1.5x + 2.5y <75
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46.

47.

15x + 10y =2 1800

y
120
2 N
= 80
ki
[ N\
40
NG
N
0
0 40 80 120 160 ~*
Caps

You would have to take the shirt
sales, 15x, times 0.4 and the cap
sales, 10y, times 0.3. The total
sales, 1800, would change to a
total of 600.

a. 11x + 26y <120
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Canoe

b. Sample answer: 2 days
canoeing and 5 days biking,
3 days canoeing and 2 days
biking, 2 days canoeing
and 2 days biking

48.

C.

b.

Times container 2 filled

l1x + 26y <96

y
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Sample answer: 1 day
canoeing and 3 days biking,
4 days canoeing and 2 days
biking, 2 days canoeing and
2 days biking

. about 48.3 in.?, about 62.8 in.’,

about 942 in.3
48.3x + 62.8y < 942
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Times container 1 filled
. about 0.209 gal,
about 0.272 gal,
about 4.08 gal;
0.209x + 0.272y <4.08
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48. d.

Times container 2 filled

49. a.
b.
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Times container 1 filled

The graphs are identical.
Sample answer: Converting
the volume does not change
the number of times each
container must be filled.
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2.8 Mixed Review

50. y =4x + 11

51. y = —15x + 60
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58.y=%x—10

59. y = —3x + 16

60.y=%x+2
61.y=—§x+%

2.5-2.8 Mixed Review of
Problem Solving

1. a. 2m + 3d <30

0 3 6 9 12 15m
Marigolds

c. 7 marigolds

2.8 y=—30|x—126] +24

b. v =30 x| +24;252

3. Approximately no correlation; the
points show no obvious pattern.

4. Sample answer: y <3x + 4

- Yes; all of the ratios of y to x are

constant.
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b. Sample answer:
y = —6.766x + 2193.95

c. 1382 daily newspapers

o
o
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N
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Circulation (millions)

0O 20 40 60 80 X
Years since 1900
No; the data points seem to be
leveling off after 1960 instead
of increasing linearly.
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